Mathematica Aeterna, Vol. 8, 2018, no. 4, 227 - 238

Asymptotic behavior of solutions of mixed problem for linear thermo-elastic systems with microtemperatures

Gulshan Kh. Shafiyeva

Baku State University Institute of Mathematics and Mechanics of NAS of Azerbaijan

Gunay R. Gadirova

Institute of Mathematics and Mechanics of NAS of Azerbaijan

Abstract

In this paper we study the mixed problem with dissipative boundary for linear thermo-elastic system with microtemperatures. We investigate the correctness of the mixed problem and establish the exponential decrease in the energy norm of the solutions.

Mathematics Subject Classification: 35M10, 35B30, 80A17

Keywords: Thermo-elastic systems with microtemperatures, mixed problem, exponential decay energy function.

1 Introduction

Thermo-elastic systems describe the elastic and thermal behavior of elastic heat conductive media, particularly the reciprocal actions between elastic stresses and temperature differences [1–5]. In recent years, the existence, uniqueness and asymptotic behavior of solutions of the system of thermoelasticity has been analyzed intensively [6,7,12,14,15] and the references cited therein.

Eringen [16] introduced a class of micromorphic solids and called them microstretch solids. Microstretch solids of modeling porous media filled with gas or viscid fluids and composite materials with chopped elastic fibers. The material points is that of these materials can stretch and contract independently of their translations and rotations. The existence of solutions the mixed problem and the Cauchy problem for different system of this type studied in the works [6-14]. The Cauchy problem for a semilinear thermo-elastic system with microtemperatures in one space variable are considered in the follows works [8, 10, 13-15].

2 Statement problem and main result

In the domain $[0; \infty) \times [0; 1]$ we consider the following thermo-elastic system with microtemperatures:

$$\begin{cases} u_{tt} - \mu^2 u_{xx} + b\theta_x = 0\\ \varphi_{tt} - \alpha^2 \varphi_{xx} + \omega w_x = 0\\ \theta_t - k\theta_{xx} + \beta u_{xt} + gw_x = 0\\ w_t - \gamma w_{xx} + h\varphi_{xt} + m\theta_x = 0 \end{cases}$$
(1)

where u, φ, θ and w represent the displacement vector, microstretch, absolute temperature difference $\theta = T_{\alpha} - T_0$ and microtemperature, respectively; $\mu, b, \alpha, \omega, k, \beta, g, \gamma, h$ and m are smooth function of $(t, x) \in [0, \infty) \times [0, 1]$ with μ, α, k and γ being positive.

For system (1) we investigate the mixed problem with boundary conditions

$$u(t,0) = 0, \ \varphi(t,0) = 0,$$
 (2)

$$\begin{cases} u_t(t,1) + u_x(t,1) = 0\\ \varphi_t(t,1) + \varphi_x(t,1) = 0 \end{cases},$$
(3)

$$\theta(t,0) = \theta(t,1) = 0, \quad w(t,0) = w(t,1) = 0$$
(4)

and the initial conditions

$$\begin{cases} u(0,x) = u_0(x), & u_t(0,x) = u_1(x) \\ \varphi(0,x) = \varphi_0(x), & \varphi_t(0,x) = \varphi_1(x) \\ \theta(0,x) = \theta_0(x), & w(0,x) = w_0(x) \end{cases}$$
(5)

The main purpose of this paper is to establishing the behavior of solutions of the problems (1)-(5) when $\mu, b, \alpha, \omega, k, \beta, g, \gamma, h$ and m some constants and

$$\mu > 0, \quad \alpha > 0, \quad k > 0, \quad \omega > 0.$$
 (6)

Let there exist numbers λ_i , i = 0, 1, 2 such that

$$\begin{cases}
\lambda_i > 0, i = 0, 1, 2, \\
m = \lambda_0 g, \\
\lambda_0 \beta = \lambda_1 b, \\
\lambda_2 \omega = h
\end{cases}$$
(7)

We introduce the following notations

$$L_2 = L_2(0,1), \quad {}_0W_2^1 = \{u : u \in W_2^1, u(0) = 0\},\$$

$$W_2^0 = W_2^0(0,1) = \{ u : u \in W_2^1(0,1), u(0) = u(1) = 0 \}, W_2^2 = W_2^2(0,1).$$

In the space

$$H =_0 W_2^1 \times L_2 \times_0 W_2^1 \times L_2 \times L_2 \times L_2$$

we define the scalar product as follows:

$$\langle w, z \rangle_H = \lambda_1 \mu^2 \int_0^1 \nu_{1x} \bar{z}_{1x} dx + \lambda_1 \int_0^1 \nu_{2x} \bar{z}_{2x} dx +$$

$$+\lambda_2\alpha^2\int_0^1\nu_{3x}\bar{z}_{3x}dx + \lambda_2\int_0^1\nu_{4x}\bar{z}_{4x}dx + \lambda_0\int_0^1\nu_{5x}\bar{z}_{5x}dx + \int_0^1\nu_{6x}\bar{z}_{6x}dx,$$

where $w = (\nu_1, ..., \nu_6), z = (z_1, ..., z_6) \in H$.

We denote by H_0 as following space

$$H_0 = \left\{ w : w = (\nu_1, \dots, \nu_6) \in \left[W_2^2 \cap_0 W_2^1 \times_0 W_2^1 \right]^2 \times \left[W_2^2 \cap W_2^1 \right]^2, \\ \nu_{1x}(1) + \nu_2(1) = 0, \quad \nu_{3x}(1) + \nu_4(1) = 0 \right\}$$

and by E(t) the energy function

$$E(t) = \int_0^1 \left[|u_t|^2 + |\varphi_t|^2 + |u_x|^2 + |\varphi_x|^2 + |\theta|^2 + |w|^2 \right] dx.$$

In this paper is obtained the following main result:

Theorem 2.1 Suppose that conditions (6),(7) are fulfilled. Then there exist numbers $M \ge 1$ and d > 0 such that for any $(u_0, u_1, \varphi_0, \varphi_1, \theta_0, w_0) \in H$ the inequality

$$E\left(t\right) \le M e^{-dt} E\left(0\right)$$

is true, where

$$E(0) = \int_0^1 \left[|u_{0_x}|^2 + |\varphi_{0_x}|^2 + |u_1|^2 + |\varphi_1|^2 + |\theta_0|^2 + |w_0|^2 \right] dx.$$

229

3 Existence of solutions of the problem (1)-(5)

In space H we define a linear operator A where

$$D(A) = H_0,$$

$$Aw = (\nu_2, \mu^2 \nu_{1xx} - b\nu_{5x}, \quad \alpha^2 \nu_{3xx} - \omega \nu_{6x}, \quad k\nu_{5xx} - \beta \nu_{2x} - g\nu_{6x}, \gamma \nu_{6xx} - h\nu_{4x} - m\nu_{5x}),$$

$$w = (\nu_1, ..., \nu_6) \in D(A).$$

Lemma 3.1 A is dissipative operator in H.

Proof. Let $w = (\nu_1, ..., \nu_6) \in D(A)$. Then

$$\langle Aw, w \rangle_{H} = \lambda_{1} \mu^{2} \int_{0}^{1} \nu_{2x} \cdot \bar{\nu}_{1x} dx + \lambda_{1} \int_{0}^{1} \left(\mu^{2} \nu_{1xx} - b\nu_{5x} \right) \bar{\nu}_{2x} dx + + \lambda_{2} \alpha^{2} \int_{0}^{1} \nu_{4x} \cdot \bar{\nu}_{3x} dx + \lambda_{2} \int_{0}^{1} \left(\alpha^{2} \nu_{3xx} - \omega \nu_{6x} \right) \cdot \bar{\nu}_{4} dx + + \lambda_{0} \int_{0}^{1} \left(k \nu_{5xx} - \beta \nu_{2x} - g \nu_{6x} \right) \bar{\nu}_{5} dx + \int_{0}^{1} \left(\gamma \nu_{6xx} - h \nu_{4x} - m \nu_{5x} \right) \cdot \bar{\nu}_{6} dx.$$

Integrating by parts the obtained equality we have:

$$Re \langle Aw, w \rangle_{H} = -\lambda_{0} k \int_{0}^{1} |\nu_{5x}|^{2} dx - \gamma \int_{0}^{1} |\nu_{6x}|^{2} dx - \lambda_{1} \mu^{2} |\nu_{2}(1)|^{2} - \lambda_{2} \alpha^{2} |\nu_{4}(1)|^{2}.$$
(8)

Hence taking into account (6) that

 $Re\langle Aw, w \rangle_H \leq 0.$

In this way A is dissipative operator.

Lemma 3.2 A is invertible operator in H.

Proof. Let $h = (h_1, ..., h_6) \in H$. We consider the equation

$$Aw = h, \quad w \in D(A). \tag{9}$$

The equation (9) is equivalent to the boundary value problem

$$\begin{aligned}
\nu_{2} &= h_{1} \\
\mu^{2}\nu_{1xx} - b\nu_{5x} &= h_{2} \\
\nu_{4} &= h_{3} \\
\alpha^{2}\nu_{3xx} - \omega\nu_{6x} &= h_{4} \\
k\nu_{5xx} - \beta\nu_{2x} - g\nu_{6x} &= h_{5} \\
\gamma \nu_{6xx} - h\nu_{4x} - m\nu_{5x} &= h_{6}
\end{aligned}$$
(10)

with the boundary conditions:

$$\begin{cases} \nu_1(0) = 0, \ \nu_2(0) = 0, \ \nu_3(0) = 0, \ \nu_4(0) = 0, \\ \nu_5(0) = \nu_5(1) = 0, \ \nu_6(0) = \nu_6(1) = 0 \end{cases},$$
(11)

$$\begin{cases} \nu_{1x}(1) + \nu_2(1) = 0\\ \nu_{3x}(1) + \nu_4(1) = 0 \end{cases}$$
(12)

Substituting $\nu_2 = h_1$ and $\nu_4 = h_3$ in other equation system (10) and boundary conditions (11),(12) we obtain

$$\begin{pmatrix}
\mu^{2}\nu_{1xx} - b\nu_{5x} = h_{2} \\
\alpha^{2}\nu_{3xx} - \omega\nu_{6x} = h_{4} \\
k\nu_{5xx} - g\nu_{6x} = h_{5} + \beta h_{1x} \\
\gamma\nu_{6xx} - m\nu_{5x} = h_{6} + hh_{3x}
\end{pmatrix},$$
(13)

$$\begin{cases} \nu_1(0) = 0, \ \nu_3(0) = 0, \\ \nu_5(0) = \nu_5(1) = 0, \ \nu_6(0) = \nu_6(1) = 0, \\ \nu_{1x}(1) = -h_1(1), \quad \nu_{3x}(1) = -h_3(1) \end{cases}$$
(14)

First solve the system

$$\begin{cases} k\nu_{5xx} - g\nu_{6x} = h_5 - \beta h_{1x} \\ \gamma\nu_{6xx} - m\nu_{5x} = h_6 - hh_{3x} \end{cases}$$
(15)

with boundary conditions

$$\begin{cases} \nu_5(0) = \nu_5(1) = 0, \\ \nu_6(0) = \nu_6(1) = 0. \end{cases}$$
(16)

The problem (15),(16) has a unique solution (ν_5, ν_6) , where $\nu_5 \in W_2^2 \cap W_2^1$, $\nu_6 \in W_2^2 \cap W_2^1$. Substituting ν_5 and ν_6 in the first two equation of the system (13) we obtain the boundary value problem for the system with respect to the functions ν_1 and ν_3 with inhomogeneous boundary conditions. The obtained problem is also solved by the standard method.

From Lemma 3.1 and Lemma 3.2 it follows that A maximally dissipative operator, therefore A generates a strongly continuous semigroup $U(t) = e^{tA}$. In this case $w(t) = e^{tA}w_0$ is a strong solution of the problem (1)-(5), if $w_0 \in H_0$.

If $w_0 \in H$, then $w(t) = e^{tA}w_0$ is a weak solution of the problem (1)-(5). In this instance if $w_0 \in H$, $w_{0n} \in H_0$ and $w_{0n} \to w_0$ in H at $n \to \infty$, then $\lim_{n\to\infty} e^{tA}w_{0n} = e^{tA}w_0$ in C([0,T]; H) [17]. In this situation boundary conditions are understood in the following sense: -for any $\nu, z \in {}_0W_2^1$ take place the equalities

$$\frac{d}{dt} \langle u(t,1), \nu(1) \rangle - \langle u(t,1), \nu_x(1) \rangle = 0, t \in [0,T],$$
(17)

231

$$\frac{d}{dt} \left\langle \varphi(t,1), z(1) \right\rangle - \left\langle \varphi(t,1), z_x(1) \right\rangle = 0, t \in [0,T].$$
(18)

Thus the following theorems are valid:

Theorem 3.1 Let the conditions (6),(7) are fulfilled. Then for any $(u_0, u_1, \varphi_0, \varphi_1, \theta_0, w_0) \in H_0$ problem (1)-(5) has a unique solution (u, φ, θ, w) , where $u, \varphi \in C([0, \infty); W_2^2 \cap_0 W_2^1) \cap C^1([0, \infty); _0 W_2^1) \cap C^2([0, \infty); L_2)$, $\theta, w \in C\left([0, \infty); W_2^2 \cap W_2^1\right) \cap C^1([0, \infty); L_2)$ and the boundary conditions (3),(4) are satisfied.

Theorem 3.2 Let the conditions (6),(7) are fulfilled. Then for any $(u_0, u_1, \varphi_0, \varphi_1, \theta_0, w_0) \in H$ problem (1)-(5) has a unique "weak" solution (u, φ, θ, w) , where $u, \varphi \in C([0, \infty); _0W_2^1) \cap C^1([0, \infty); L_2)$, $\theta, w \in C([0, \infty); L_2)$ and the boundary conditions (3) are satisfied in the meaning of (17)-(18).

4 Proof of Theorem 2.1

For proof of Theorem 2.1 we'll use the following lemma, which is proved in the paper V. Komornik [18].

Lemma 4.1 Let $Z(t) : [0, \infty) \to [0, \infty)$ be a non-increasing function and assume that there exists constant c > 0 such that

$$\int_{s}^{\infty} Z(t) dt \le MZ(s), \quad s \ge 0.$$

Then

$$Z(t) \le Z(0) \exp\left(1 - \frac{t}{c}\right), \quad t \ge 0.$$

We define the functional

$$E_0(t) = \frac{\lambda_1}{2} \int_0^1 u_t^2 dx + \frac{\mu^2 \lambda_1}{2} \int_0^1 u_x^2 dx + \frac{\lambda_2}{2} \int_0^1 \varphi_t^2 dx + \frac{\alpha^2 \lambda_2}{2} \int_0^1 \varphi_x^2 dx + \frac{\lambda_0}{2} \int_0^1 \theta^2 dx + \frac{1}{2} \int_0^1 w^2 dx.$$

It is easy to see that the following lemma is true:

Lemma 4.2 Let the condition (6),(7) are satisfied, then exists $c_1 > 0$ and $c_2 > 0$ such that $c_1 E(t) \le E_0(t) \le c_2 E(t)$.

232

Assume that $(u_0, u_1, \varphi_0, \varphi_1, \theta_0, w_0) \in H_0$, then $E_0(t)$ is differentiable. Taking into account (1) we obtain that

$$E'_{0}(t) = -k\lambda_{0}\int_{0}^{1}\theta_{x}^{2}dx -$$
$$-\gamma\int_{0}^{1}w_{x}^{2}dx + \lambda_{1}\mu^{2}u_{x}(1,t)\cdot u_{t}(1,t) + \lambda_{2}\alpha^{2}\varphi_{x}(1,t)\cdot\varphi_{t}(1,t).$$
(19)

By using (3) from (19) we have

$$E'_{0}(t) = -k\lambda_{0} \int_{0}^{1} \theta_{x}^{2} dx - \gamma \int_{0}^{1} w_{x}^{2} dx - \lambda_{1} \mu^{2} |u_{t}(t,1)|^{2} - \lambda_{2} \alpha^{2} |\varphi_{t}(t,1)|^{2} \leq 0.$$
(20)

Consequently,

$$E_0(t) \le E_0(s), \ t \ge s.$$
 (21)

From the inequality (21) we directly obtain the following:

Lemma 4.3 The following estimates are true:

$$1. \quad \int_{0}^{1} \theta_{x}^{2}(t,x) dx \leq -\frac{1}{k} E_{0}'(t) , \ 0 \leq t \leq T;$$

$$2. \quad \int_{s}^{T} \int_{0}^{1} \theta_{x}^{2}(t,x) dx dt \leq \frac{1}{k} E_{0}(s) , \ 0 \leq s \leq T;$$

$$3. \quad \int_{0}^{1} w_{x}^{2}(t,x) dx \leq \frac{1}{\gamma} E_{0}'(t) , \ 0 \leq t \leq T;$$

$$4. \quad \int_{s}^{T} \int_{0}^{1} w_{x}^{2}(t,x) dx dt \leq \frac{1}{\gamma} E_{0}(s) , \ 0 \leq s \leq T;$$

$$5. \quad \int_{s}^{T} |u_{t}(t,1)|^{2} dt \leq \frac{1}{\lambda_{1}\mu^{2}} E_{0}(s) , \ 0 \leq s \leq T;$$

$$6. \quad \int_{s}^{T} |\varphi_{t}(t,1)|^{2} dt \leq \frac{1}{\lambda_{1}\alpha^{2}} E_{0}(s) , \ 0 \leq s \leq T.$$

Multiplying the first equation of system (1) by u and integrating over the domain $[s, T] \times [0, 1]$ we get:

$$0 = \int_s^T \int_0^1 u \left(u_{tt} - \mu^2 u_{xx} + b\theta_x \right) dx dt =$$

Gulshan Kh. Shafiyeva and Gunay R. Gadirova

$$= \int_{0}^{1} u \, u_{t} \Big|_{t=s}^{T} dx - \int_{s}^{T} \int_{0}^{1} |u_{t}|^{2} \, dx dt + \mu^{2} \int_{s}^{T} \int_{0}^{1} |u_{x}|^{2} \, dx dt - \mu^{2} \int_{s}^{T} u \, (t,1) \, u_{x} \, (t,1) \, dt + \int_{s}^{T} \int_{0}^{1} b u \theta_{x} dx dt.$$
(22)

Similarly, multiplying the second equation of system (1) by φ and integrating over the domain $[s, T] \times [0, 1]$ we have:

$$0 = \int_{s}^{T} \int_{0}^{1} \varphi \left(\varphi_{tt} - \alpha^{2} \varphi_{xx} + \omega w_{x}\right) dx dt =$$

$$= \int_{0}^{1} \varphi \cdot \varphi_{t} \Big|_{t=s}^{T} dx - \int_{s}^{T} \int_{0}^{1} |\varphi_{t}|^{2} dx dt + \alpha^{2} \int_{s}^{T} \int_{0}^{1} |\varphi_{x}|^{2} dx dt -$$

$$-\alpha^{2} \int_{s}^{T} \varphi \left(t, 1\right) \varphi_{x} \left(t, 1\right) dt + \int_{s}^{T} \int_{0}^{1} \omega \varphi w_{x} dx dt.$$
(23)

From (22) and (23) follows that

$$\begin{split} \lambda_1 \int_s^T \int_0^1 |u_t|^2 \, dx dt + \lambda_2 \int_s^T \int_0^1 |\varphi_t|^2 \, dx dt - \\ -\lambda_1 \mu^2 \int_s^T \int_0^1 |u_x|^2 \, dx dt - \lambda_2 \alpha^2 \int_s^T \int_0^1 |\varphi_x|^2 \, dx dt = \\ &= \lambda_1 \int_0^1 u \cdot u_t |_{t=s}^T \, dx - \lambda_1 \mu^2 \int_s^T u \, (t,1) \, u_x \, (t,1) \, dt + \\ &+ \lambda_2 \int_0^1 \varphi \cdot \varphi_t |_{t=s}^T \, dx - \lambda_2 \alpha^2 \int_s^T \varphi \, (t,1) \, \varphi_x \, (t,1) \, dt + \\ &+ \lambda_1 b \int_s^T \int_0^1 u \theta_x dx dt + \lambda_2 \omega \int_s^T \int_0^1 \varphi w_x dx dt. \end{split}$$

Hence we obtain

$$2\int_{s}^{T} \varepsilon(t) dt = \lambda_{1} \int_{0}^{1} u \cdot u_{t}|_{t=s}^{T} dx + \lambda_{2} \int_{0}^{1} \varphi \cdot \varphi_{t}|_{t=s}^{T} dx + \int_{0}^{T} \int_{0}^{1} \left(\lambda_{0}\theta^{2} + b\lambda_{1}u\theta_{x}\right) dxdt + \int_{0}^{T} \int_{0}^{1} \left(w^{2} + \lambda_{2}\omega w_{x}\varphi\right) dxdt + 2\lambda_{1}\mu^{2} \int_{s}^{T} \int_{0}^{1} |u_{x}|^{2} dxdt + 2\lambda_{2}\alpha^{2} \int_{s}^{T} \int_{0}^{1} \varphi_{x}^{2} dxdt - \lambda_{1}\mu^{2} \int_{s}^{T} u(t,1) u_{x}(t,1) dt - \lambda_{2}\alpha^{2} \int_{s}^{T} \varphi(t,1) \varphi_{x}(t,1) dt.$$
(24)

Using Holder inequality, embedding theorem [19] and Lemma 4.3 we get that

$$-\lambda_{1}\mu^{2}\int_{s}^{T}u(t,1)u_{x}(t,1)dt \leq$$

$$\leq \varepsilon\lambda_{1}\mu^{2}C_{0}\int_{s}^{T}\int_{0}^{1}u_{x}^{2}(t,x)dxdt + \frac{1}{\varepsilon}\int_{s}^{T}u_{x}^{2}(t,1)dt \leq$$

$$\leq \varepsilon\lambda_{1}\mu^{2}C_{0}\int_{s}^{T}\int_{0}^{1}u_{x}^{2}(t,x)dxdt + C(\varepsilon)E(s).$$
(25)

Similarly, we have

$$-\lambda_{2}\alpha^{2}\int_{s}^{T}\varphi(t,1)\varphi_{x}(t,1)dt \leq \leq \varepsilon\lambda_{2}\alpha^{2}C_{0}\int_{s}^{T}\int_{0}^{1}\varphi_{x}^{2}(t,x)dxdt + C(\varepsilon)E(s).$$
(26)

Multiplying both sides of the first equation of system (1) by $2xu_x$ and integrating over the domain $[s, T] \times [0, 1]$ we obtain

$$0 = \int_{s}^{T} \int_{0}^{1} 2xu_{tt} \cdot u_{x} dx dt -$$
$$-2\mu^{2} \int_{s}^{T} \int_{0}^{1} xu_{x} u_{xx} dx dt + 2b \int_{s}^{T} \int_{0}^{1} xu_{x} \cdot \theta_{x} dx dt.$$
(27)

Integrating (27) by parts and taking into account the boundary conditions (2), (3) we get:

$$\mu^{2} \int_{s}^{T} \int_{0}^{1} u_{x}^{2} dx dt + \int_{s}^{T} \int_{0}^{1} u_{t}^{2} dx dt - \int_{0}^{1} x u_{x}^{2} \Big|_{t=s}^{T} dx + 2 \int_{0}^{1} x u_{x} u_{t} \Big|_{t=s}^{T} dx - \mu^{2} \int_{s}^{T} u_{x}^{2} (t, 1) dt + 2b \int_{s}^{T} \int_{0}^{1} x u_{x} \cdot \theta_{x} dx dt = 0.$$

$$(28)$$

Similarly, we have the following identity

$$\alpha^{2} \int_{s}^{T} \int_{0}^{1} \varphi_{x}^{2} dx dt + \int_{s}^{T} \int_{0}^{1} \varphi_{t}^{2} dx dt - \int_{0}^{1} x \varphi_{x}^{2} \Big|_{t=s}^{T} dx + 2 \int_{0}^{1} x \varphi_{x} \varphi_{t} \Big|_{t=s}^{T} dx - \alpha^{2} \int_{s}^{T} \varphi_{x}^{2} (t, 1) dt + 2\omega \int_{s}^{T} \int_{0}^{1} x \varphi_{x} w_{x} dx dt = 0.$$
(29)

Using Holder's and Young's inequalities, Lemma 4.3, and inequality (21) from (28) we obtain that

$$\left(\mu^{2}-\varepsilon\right)\int_{s}^{T}\int_{0}^{1}u_{x}^{2}dxdt\leq C_{\varepsilon}E_{0}\left(s\right).$$

Similarly, from (29) we get

$$\left(\alpha^{2}-\varepsilon\right)\int_{s}^{T}\int_{0}^{1}\varphi_{x}^{2}dxdt \leq C_{\varepsilon}E_{0}\left(s\right).$$
(30)

Further, using Poincare inequality [20] and Lemma 4.3, we have that

$$\int_{s}^{T} \int_{0}^{1} w^{2} dx dt \leq C_{0} \int_{s}^{T} \int_{0}^{1} w_{x}^{2} dx dt \leq CE(s)$$

Using Holder's and Young's inequalities we also obtain

$$b\lambda_{1} \int_{s}^{T} \int_{0}^{1} u\theta_{x} dx dt \leq \varepsilon \int_{s}^{T} \int_{0}^{1} u_{x}^{2} dx dt + \frac{C_{0}b^{2}\lambda_{1}^{2}}{\varepsilon} \int_{s}^{T} \int_{0}^{1} \theta_{x}^{2} dx dt \leq \varepsilon \int_{s}^{T} \int_{0}^{1} u_{x}^{2} dx dt + C_{\varepsilon} E_{0}(s).$$

$$(31)$$

Similarly, we get that

$$\omega\lambda_2 \int_s^T \int_0^1 w_x \varphi dx dt \le \varepsilon \int_s^T \int_0^1 \varphi_x^2 dx dt + C_\varepsilon E_0(s).$$
(32)

Choosing $\varepsilon > 0$ small enough from (24)-(32), we have that

$$\int_{s}^{T} E_{0}(t) dt \leq C E_{0}(s).$$

$$(33)$$

Let $(u_0, u_1, \varphi_0, \varphi_1, \theta_0, w_0) \in H$. Then there exist $(u_{0n}, u_{1n}, \varphi_{0n}, \varphi_{1n}, \theta_{0n}, w_{0n}) \in H_0$ such that $(u_{0n}, u_{1n}, \varphi_{0n}, \varphi_{1n}, \theta_{0n}, w_{0n}) \to (u_0, u_1, \varphi_0, \varphi_1, \theta_0, w_0)$ in H.

Hence, passing to the limit we obtain that inequality (21) is also valid for initial data $(u_0, u_1, \varphi_0, \varphi_1, \theta_0, w_0) \in H$, but inequality (33) is valid for weak solution too.

Thus, by Lemma 4.1 we get

$$E(t) \le M e^{-dt} E(0), \ t \ge 0,$$
 (34)

where M > 0 and d > 0 not depends on t > 0.

Note that the statement of the Theorem 2.1 follows from (34) and Lemma 3.2.

References

- S. Jiang, R. Racke, Evolution equations in thermoelasticity, Monographs and Surveys in Pure and Applied Mathematics, 112(CRC/Chapman and Hall, 2000).
- [2] S. Chen, Y.G. Wang, Propagation of singularities of solutions to hyperbolic-parabolic coupled system, Math. Nachr., 242 (2002), 46–60.
- [3] M. E. Gurtin, A. C. Pipkin, A general theory of heat conduction with finite wave speeds, Arch. Ration. Mech. Analysis, 31 (1968), 113–126.
- [4] D.D. Joseph, L. Preziosi, *Heat waves, Rev. Mod. Phys.*, **61** (1989), 41–73.
- [5] R. Racke, Lectures on nonlinear evolution equations: initial value problems, (Braunschweig:Vieweg, 1992).
- [6] R. Racke, Thermoelasticity with second sound: exponential stability in linear and nonlinear 1-d, Math. Meth. Appl. Sci., 25 (2002), 409–441.
- [7] R. Racke, Asymptotic behavior of solutions in linear 2- or 3-d thermoelasticity with second sound, Quart. Appl. Math., **61** (2003), 315–328.
- [8] R. Racke, Y.G. Wang, Propagation of singularities in one-dimensional thermoelasticity, J. Math. Analysis Applic., 223 (1998), 216–247.
- [9] M. Reissig, Y.G. Wang, *Linear thermoelastic systems of type III in 1-D*, Preprint.
- [10] M.A. Tarabak, On existence of smooth solutions in one-dimensional nonlinear thermoelasticity with second sound, Quart. Appl. Math., 50 (1992), 727-742.
- [11] Y.G. Wang, Microlocal analysis in nonlinear thermoelasticity, Nonlin. Analysis, 54 (2003), 683–705.
- [12] Y.G. Wang, M. Reissig, Parabolic type decay rates for 1-D-thermoelastic systems with time-dependent coefficients, Monatsh, Math., 138 (2003), 239–259.
- [13] A.M. Abd El-Latief, S.E. Khader, Exact Solution of Thermoelastic Problem for a One-Dimensional Bar without Energy Dissipation, Hindawi Publishing Corporation, ISRN Mechanical Engineering, 2014(2014), Article ID 694259, 6 pages.

- [14] E. Jaime, Mucoz Rivera, Maria Grazia Naso, Ramon Quintanilla, Decay of solutions for a mixture of thermoelastic one dimensional solids, Computers and Mathematics with Applications, 66 (2013), 41-55.
- [15] M. Slemrod, Global existence, uniqueness and asymptotic stability of classical smooth solutions in one-dimensional nonlinear thermoelasticity, Arch. Rational Mech. Anal., 76 (1981), 97–133.
- [16] A. C. Eringen, Linear theory of micropolar elasticity, J. Math. Mech., 15 (1996), 909–923.
- [17] T. Kato, Quasi linear of evolution equations, with applications to partial differential equations, Springer, Lecture Notes in Mathematics, 448(1975), 25–70.
- [18] V. Komornik, Decay estimates for the wave equation with internal damping, International Series Num. Math. Birkhauser Verlag Basel, 118 (1994), 253–266.
- [19] R.A. Adams, Sobolev Spaces, Academic Press, New York, (1975), 268pp.
- [20] L.C. Evans, Partial differential equations, 2nd ed., 19(2010), 749pp.

Received: June 29, 2018